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( Macroeconomics )

Full Marks : 80
Pass Marks : 32/24

Time : 3 hours

The figures in the margin indicate full marks
for the questions
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1x8=8
Choose the correct option/Answer the
following :
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(i) (i) S (i) e
Both (i) and (ii)
~ (iv) e*_7 s T
None of the above

AMMEF AR 41 B ey frdq IR
Capacity of credit creati
| bank depends op

(c)

on of commercia]

cash reserve ratio

() = 2 L i)
rate of interest

@) SR qhre ey

None of the above
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(@) el a1 ae wron o &2

What is net national income?

(e) SRS GWOR S M IR
In India, national income is estimated by
(i) R s
Finance Commission

(i) &I AR 4SS

Central Statistical Organization
(iii) SROH RS R

[ Reserve Bank of India

(iv) FIT TR

Central Government

() ofsers Tcaen wrR oy

T

|

Write the meaning of Disposable
Personal Income,

() e Feree P T S B

Write two basic assumptions of classical
theory of employment.

() Efe PR O TR fin )

Give one example of cost-push inflation.
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(4) (5)

Z.ﬁmmwﬁmm

- (e S¢0 g o) ; 3. O 9w & 2 Mg SAAARST HcemsAS TN ST

2 WO I 919 FIR R AT GBI AFS S

gl?;e- Shor? notes on any four from the ! 2+5+512
wing (within 150 words each) : | What is national income? How far is it
(@) {}5 Tqog Bl | important in modern economic analysis?
Gro ) ‘ Discuss any one method of computing
SS national product national income.
o i %41/ Or
) . I _
Effect; HOW O A FIN W WE I &S o1 I
ve demand o 91 X PR ove @F @S T orR
o - JRC AP TR0 ? 8+4=12
(0) GFeem swer - - ~ Explain the income and expenditure
. Balance of payments J methods of computing n:'monal in‘f°n.le'
? Which of the two methods is more suitable
for developing countries? '
(d) Ritzns e | |
Investment functioy | 4. @R :rg a1 @R ARET O A5 caaz;«;
' NPT IR F01 +9=11
() = & J | Define money. Explain the cash transaction
N | approach to the quantity theory of money.
Rural bank ‘ /0 ,
%<1/ Or
N R am R A T AT W AF R @
World p, | P 7+4=11
ank 1 Explain the functions of money. What do you
Jr mean by actual money and money of
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Wh . " 3 |
una:i IS commercial bank? Discuss the
ctions of commercial bank.

W1/ Or

SRS 347 | i of aer wed

Explain the clags;
and income, Mentical theory of em

. 1
On its drawbackg Ployment

Y31/ Or

@’?ﬂ%’ﬁmﬁm .
T 2o g T T s i
8+3=>"

7+4=1
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7. SN PRI AR M ©GCH A I | G

SGUOR SFIRYPER TEy | 7+4=11

Discuss the Adam Smith’s theory of
international trade. Mention its drawbacks.

9241/ Or

T& IMw {2 & IeR R S wRemr
HICAmA 91 | 3+4+4=11
What is free trade? Discuss the merits and
demerits of free trade.
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